
 
 
 
 

 
 

 

 
 
 

Fitting Instructions: SUB018 

Vehicle: Subaru XV SUV Wagon 

Towing Capacity: 1200kg 

Fitting Kit: 4x         1½ x 3/8 bolts on wire (grind edges), flat & star washers, nuts 

2x         5½ x 3/8 bolts, flat & star washers, nuts 

2x        100mm crush tubes 

2x        10mm hole plates 

1x         D shackle 

2x Towbar Rating Labels 

  

1. Remove interior floor trim to expose chassis rails.  Remove the black plastic cover on the centre 
hole both sides which aligns with the fore most chassis hole under car. 

2. Bumper cut required prior to fitment of towbar.  Locate centre of bumper, cut 45mm each side of 
centre & 60mm up from edge of bumper. 

3. Undercar feed 1½  x 3/8 bolts on wire (2 each side) into the fore most holes in the chassis (refer 
step 1).  Ensure wires are bent flat against underside of chassis. 

4. Mount towbar to underside of chassis, aligning rear most holes in towbar with bolts fitted in 
previous step.  Fit flat / star washers & nuts.  Do not tighten at this stage. 

5. Ensure that wires are clear of the front most hole in the towbar.  Feed 5½ x 3/8 bolts via hole 
plates / crush tubes & chassis holes (refer step 1) inside of car, via towbar.  Fit star / flat washers 
& nuts undercar. 

6. Centralise towbar on bumper cut & tighten all bolts. 

7. Replace floor trim removed in step 1. 

8. Apply Towbar Rating Labels to driver’s side door sill and non-removable part of the towbar. 

BTA Towing Equipment 
Australia’s Towing Equipment Specialist 


